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A

B

C

D
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F

G

H

I

mwai i%msu

(5U) &llfhd

5

3

10

7 A

10 B
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QI&XI~?J 5.1, T,(E) = 0, T,(E) = fh+Jqfl {T,(E) + d,,I = 0 + 5 = 5

T,(E) = filQq” {T,(E) + d,,l  = 0 + 3 = 3

I T,(E) t $4  = 3 + 0 = 3

T,(E)= dl~da[FI

wio
(T,(E) + d,, = 0 + 10 = 10

T,(E) = 1 0

I T,(E) +  + 4,

T,(E) = ‘fil~~~~

T,(E) $5 =  = 5 3+ + 7 10  = = 12 13

T,(E) = 0

------- (5.1)

OR 414 125



n%

n40

T,(E) = 13

TAE)  + $a = 13 + 5 = 18

T,(E) = dlqq4”

T,(4) + du = 10 + 9 = 19

T,(E) = 19

T,(E) = fil~“~F~  (T&E) + 4,)  = 19 + 4

T,(E) = 23

T,(E) = fil1JJqA {T,(E) + d,J = 23 + 2

n% T,(E) = 25

T,(L) = T,(E) = 25

T,(L) = filPil~(1 (T,(L) - d,J

= fi1i1qfI  I25  -2)

n30 T,(L)  = ~3

T,(L) = filoilr(9I  {T,(L) - dJ

. = filoil~0  123  - 4)

n% T,(L) = 19

T,(L) = fil$htR  [T,(L) - dJ

126
= fi1pi1qel (19 -5) = 14 OR 414



T,(L) = dl&Q=i  (T,(L) - d,,)

= dl$+ilq~  {I9 - 9)

= 10

T,(L) - d.+,  = 10 - 0 = 10

T,(L) = dl?h~Fi

[T,(L) - h5 = 14 - 10 = 4

-

= d1hqm

\

1 0

4

w4a T,(L) = 4

T,(L) = d&j@ {T,(L) - 4,}

= d1kp-i { 14, 7)

= 7

T,(L) - d,, = 7 - 5 = 2.

T,(L) = dl@ilqR i T,(L) - d,, = 4 - 3  = 1

T,(L) - d,, = 10 - 10 = 0

74% T,(L) = 0

127



S, = T,(L) - T,(E) = 10 - 10 = 0

S, = T,(L) - T,(E) = 14 - 13 = 1

S, = T,(L) - T,(E) = 19 - 19 = 0

S, = T,(L) - T,(E) = 23 - 23 = 0

S, = T,(L)  - T,(E) = 25 - 25 = 0

Iw~“lsai~~lanlr915osIgw  0 ‘h6TWjnl5d 1,4,  6, 7 UXrWjnl5d  8 t%IfU%%“~‘+l

115tnadamqfmd  1,  4, 6, 7 mz  8 13%

n*4
aoanqfl &I l-4-6-7-8

iianssathqfl  do c, G, H bKlf  I

~amm%t359ni5  = 25 %J

fflwatuoln T,(L)  = T,(E) = ccd, I~on”on55u  (ij) E SC



ioflm.

A

B

C

D

X

E

G

F

H

I

IlWJWlXi

hJlfhJ

i

1

1

1

2

3

3

4

5

6

7

WplTd

bllpIaJ1 ~XJ~l~i=ll

j 6ld)

2 5

3 3

4 10

5 I

4 0

5 10

6 9

6 5

7 4

8 -l

Qlfl ES,, = T$E)

i%ifU ES,, = T,(E) = 0

ES,, = T,(E) = 0

ES,, = T,(E) = 0

ES25 = T,(E) = 5

Es,, = T,(E) = 3

ES35 = T,(E) = 3

~46 = T,(E) = 10

aan1aia&pl lXIlGkpI

6% mioana  6% 6

ES,, EFI, LS 1,

0 5 2

0 3 1

0 10 0

5 12 7

3 3 1 0

3 1 3 4

1 0 1 9 1 0

1 3 1 8 14

1 9 23 19

23 25 23

7+2-
tnQfl716

L F
1)

I

4

1 0

14

10

14

19

1 9

23

25

anId

2

1

0.

2

7

1

0’

1

0’

0’
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=ks = T,(E) = 13

=, = T,(E) = 19

5, = T,(E) = 23

d?U EF,,  +hJafUoln EF,,  = ES,, + d,,

Al-h”  LF,, = T,(L)
L P

WWflQ LF,%  = T,(L) = 25
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0 ; j=l

T,@)  =

n’lqJqt3  (T,(E) + d!,) ; 2 5 j _< n

i<j

. . T,(E) = 0

OR 414 131



T,(E) = hQW@  {T,(E) + d,,] = 10

T,(E) = dlfJ4qt-i  {T,(E) + %3]  = 12

T,(E) = filtl[~flfi  {T,(E) + d.,J  = 13

T,(E) + d,, = 0 + 30

T,ce, = fi1qqFl

IT,(E) + d,$  = 13 + 0

:.  T,(E) = 30

T,(E) + ddd = 13 + 2

T,(E) = hqqvl

I
T,(E)  + 46 = 30 + 1

:.  T,(E) = 31

T,(E) = fhQ4qft  {T,(E) + d4,,  = 43

= 13 + 45

T,(E) = ti1qqFl

I

T,(E) + da8

T,(E)+d, = 31+0

’ T,(E) = 58. .

T,(E)+d,  = 31+6

T, (E)  =  fi-iiiqm

c,(E)  + d,9  = 43 + 5

:.  T,(E) = 48

T,,(E)  = dluJ4s U,(E) +&,,,,I  = 54

T,,,(E) + d,,,,,  = 54 + 2

T,,(E) = fi1fpqFl

iT,(E) + c&, = 58 + 1

:.  T,,(E) = 59

T,,(E) = fi1UW  V,,(E)  + d,,,,,l = 60

T,,(E) + 4z.13  = 60 + 0

Tl,@) = fi1qapl
f

. T,,(E)  + d,,.,, = 59 + 4

132
s’.  T,,(E) = 63

OR 414



T,,(E) + d,, 14  = 60 + 1

TJE) = ~%t=$r@

T,,(E)  + d,,,,,  = 63 + 1

:.  TJE) = 6 4

T15@) = f+T[Qq@  IT,,(E)  + d14.151  = 65

dlMs"nrranll~llh~q~uoalwqms8;  i di1uaula1n

T,(E) ; i = n

T(L) = I

\a  ’flldlq@ IT,(L)  - $1 ; i = 1, 2, . . ., (n - 1)

j>i

:.  TJL)  =  TJE) =  6 5

T&)  = ’dl@h~FI  {T,,(L) - d,,,,,]  = 64

T,,(L) = fhl~f?  {T,,(L) - d13,14]  = 63

TJL)  - d12,14  = 64 - 1

TJL)  = dl&+?

i
T,,(L)  - dlZ.13  = 63 - 0

:.  TJL)  =  6 3

T&4 - d,,,,,  = 63 - 1

T],(L) = dWhi=jF~

' i
T,,(L)  - d,,,,,  = 63 - 4

:.  T,,(L) = 59

T,,(L) = dlPhqR  {T,,(L) - d,,,,,} = 57

T,(L) = h&=p  {T,,(L) - %,,,j = 51

T,(L) = dlPh~~  (T,,(L) - d,,,,] = 58

T,(L) = fil@iltjF~  {T,(L) - d,,} =46

I

T,(L)  - d,, = 58-O

T , ( L )  =  dlPk=jFi

T,(L) - d,, = 51-6

:.  T,(L) = 4.5

OR 414 133



T,(L) = dl+ha(@  {T,(L)-  &I =44

T , ( L )  =  fildlkJ@

i

T,(L) - 4, = 4 5 - 2

T,(L) - da7 =  4 6 - 3 0

T,(L) - 48 = 58 -45

:. T,(L) = 13

T,(L) = n’l&I  {T,(L) - &I = 12

T,(L) = FildlqR IT,(L)  - 4,1 = 10

T,(L) - d,, = 10 - 10

T , ( L )  = ‘fil@il~F~

T,(L) - 4, =  4 4 - 3 0

:.  T,(L) = 0

ES,, = T,(E) = 0

ES,, = T,(E) = 0

ES =23 T,(E) = 10

=%I = T,(E) = 12

ES,, = *4, = ES,, = ES,, = T,(E) = 13

Es =79 T,(E) = 43

Es =56 T,(E) = 30

ES68  = ES69 = T,(E) = 31

Es =9.10 ES, = 48

Es - -10.11 Es,, = 54

ESs,,  = ES, = 58

Es II.12 = ES,,,,, = 59

Es =12.14 ES,, ,g 60 = = 63, ES,, > ,4 ES,3
134 ES =14 . 1 5 E-T, = 64 OR414



dlE!F,,  hmlm-l

EF,,  = ES,, + dI,

%WJ%‘til  ES,, ‘UfNn”W155ol  (ij) hhWQJ~%li%  bh~

EF,* = ES,, + d,, = 0 + 10 = 10 .

EF,,  = ES,, + d,, = 0 + 30 = 30

EF,, = Es,, +$, = 10+  2 = 12 6ihdu

dlU’JQ6dl  LF,,  I!Wt$l  T,(L) i)lfPllSlQ  5.5 66~.&1  j tmlW~n?stt! j @!a&  15  &u

na'yld+ii 1

hii LF14,15 = TJL)  = 65

I-F,,,,,  =  LF,,.,,  =  T&)  =  64

LF,,  13 =  LF,,,,  =  TJL)  =  6 3

J-F,,,,, =  TJL)  = 63

LF,,,,  = LF,,,  = T,,(L) = 59

LFWO = T,,(L) = 57

LF69 = LF,9  = T,(L) = 51

LFO, = LFb8  = T,(L) = 58

J-F46 = LP56  = T,(L) = 4.5

LF4, = T,(L) = 46

LF45 = LF,,  = 44

LF34 = T,(L) = 13

LF23 = T,(L) = 12

LF,,  j = T,(L) = 10

tiium Ls,,m

I+ = LFl,  - d,

hJ%hil  LS,,  = LF,,  ‘-  du

L-%2 = LF,,  - d,, = 10 - 10 = 0

L-5, = LF,, - d,, = 44 - 30 = 14

L% = LFz,  - $I1  = 12 - 2 = 10

6fhdlJ

OR 414 135



RlUa~ulaaldl~o~~os~n~~l5~  i Uln S, = TJL)  -T,(E) Qlfk%U~lna  5.5

&&.I s,, = 10 - 10 = 0

S 13 = 14 - 0 = 14

S 23 = 10 - 1 0 A 0

S 3 4 = 12 - 12 = 0

S45 = 44- 1 3 = 31

S 4 7 = 16 13- = 3

S 4 8 = 13-13 = 0

S =7 9 46 -43 = 3

S 56 = 44 30- = 14

S 46 = 43 13- = 30

S =68 58 -31 = 27

S =69 45 -31 = 14

S 9.10 = 51-48 = 3

S 10.11 = 57-54 = 3

S *.11 = 58-58 = 0

TF,* = Ls,, - ES,, = 0

136 TFI, Ls,, -ES,, 14= =
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TF23 = LS:,  - ES,, = 0

TF3, = LS,, - ES,, = 0

TF45 = LS,,  - ES,, = 31

T,&  = LS,?  - Es,, = 3

TF48 = LS,, ES,*  = 0

TF,, = LS,, - ES,, = 3

TF,, = LS,, - ES,, = 14

TF46 = Ls,,  - ES,, = 30

*Fe* = LS,,  - ES,, = 27

TF,, = LS,, - ES,, = 14

TF,,,,  = s,,,,  - ES,,,,  = 3

T F 10.11 = LS,,,,  - ES,,,, = 3

?‘Fw = Ls8,,,  ES8,,  = 0

TF,,,,,  = LS,,,,,  - ES,,,z  =  3

T F12.14 = LS,2,, - ES,, 14  =  3

T F

T11fWil  T,(E) bl151~ 5.5 66'Clz  fj'Fl,%WV11519  5.6 dlUXMi1  FF,, 'hi

RF,* = T,(E) EF,,  = 10 - 10 = 0

FF,, = T,(E) - EF,, = 30 - 30 = 0

FF,, = T,(E) - EF,, = 12 - 12 = 0

FF34 = T,(E) - EF,,  = 13 - 13 = 0

FF.47 = T,(E) - EFa7 = 43 - 43 = 0

FF48 = T,(E) - EFd8 = 58 - 58 = 0

OR 414 137



RF&,  = T,(E) - EFm = 48 - 48 = o

P~S6  = T,(E) - EF,, = 31-  31 = 0

FF,,,  = T,(E) - EFw  = 31 - 15 I 16

PFas = T&E!)  - EF, = 48-37 = 11

PP9,10  = T,,(E) - E!F$,, = 54 - 54 = 0

F.F,O,,l  = T,,(E) - EF,,,,, = 59 - 56 = 3

P%ll = T,,(E)-EFa,,  = 59-59 = o

F%,,* = T,,(E) - EF,,,,, = 60 - 60 z 0

PF,*,, = T&i!) - EP,,,, = 64 - 61 = 3

J%.13 = T,,(E) - EF,,,13 = 63 - 63 = 0

%.14  = TJE) - EP,,,, =  6 4 - 6 4 = 0

P%,,,  = T,,(E) - FJF,,,,, = 65 - 65 I 0

l?~lnou~ai?8~S~ueJn”onSSu  (ij)  flwmmn

i

0

IFIj  = dlfppl

Tj<E)  - (T&L)  + di>>

I

0

IF,, = dltpp = 0

T,(E) - (T,(L) + d,,) = 10 - (0 + 10) = 0

IF,, = hpqm

i

0

= 0

T,(E) - (T,(L) + d,,) = 30 - (0 + 30) = 0

.O

IFz3  = fi7fJqo

1

= o

T,(E) - (T,(L) + d& = 12 - (10 + 2) = 0

0

IF.37  = fi1q4tp =O

T,(E) - (T,(L) + d,,) = 43 - (13 + 30) = 0
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.O

IF48  = dlijJq@l

i

= o

T,(E) - (T,(L) + d4.J  = 58 - (13 + 45) = 0

0

I F , ,  = dli=j~q@ = 0

(T,(E) - (T,(L) + d,,) = 48 - (46 + 5) = -3

1

0

IFS6  = filfpfp

T,(E) - (T,(L) + d,,) = 31 - (44 +l)  = -14

i

0

IFa = dl$9qFi

T,(E) - (T,,(L) + d,,) = 31 - (13 + 2) = 16

‘Fe9  = filt$Jtjw

1

0

T,(E) - (T,(L) + d,,) = 48 - (45 + 6) = -3

0

IF,,,,  = dl~~p

= 0

= 16

= 0

= 0

IT,,(E)  - (T,(L) + d,,,,)  = 54 - (51 + 6) = -3

I

0

IF,,,,, = dlt=j9q@ = 0

T,,(E) - (T,,(L) + d,,,,,)  = 59 - (57 + 2) = 0

i

0

IF*,,,, = d1ayqFl = 0

TJE) - (T,(L) + 4,,,)  = 59 - (58 + 1) = 0

i

0

IF,,,2  = dlqQqW = o

T,,(E) - (T,,(L) + d,,,,,)  = 60 - (59 + 1) = 0

0

IF 12.14 = dlip=p = 0

T&3  - V,,(L)  + d12.+J  = 6~ - (63  + 1)  = 0

OR 414 139



0

IF,I,,  = fhpqw = 0

TJE) - (T,,(L) + d,,,,)  = 63 - (59 + 4) = 0

0

IF,3,, = filgq~ = 0

T14(E) - (T,,(L) + d17,14)  = 64 - (63 + 1)  = 0

0

I F , , , ,  =  A1qqn I = 0

T,5(E) - VI,&)  + d,,,,,)  = 65 - (64 + 1)  = 0

, . SF,, = LF,, - [T,(L) + d,,]  = 10 - [O + 101  =  0

SF,, = LF,,  - [T,(L) + d,,] = 44 - [0 + 301  = 14

SP2,  = LFz3  - [T,(L) + 4,] = 12 - [lo + 21 = 0

SF3+,  = LF,,  - [T,(L) + $,J = 13 - [12  + 1] = 0

SF47 = LF4, - [T,(L) + d,,]  = 46 - 113  + 301  = 3

SF.48 = LF4*  - [T,(L) + d,,]  = 58 - 113  + 451  = 0

SF,9  =  LF,,-[T,(L)+d,J=51-[46+5]  =  0

SFS,  = LF,,  - [T,(L) + d,J = 45 - [44+  ~1 =  0

SF,, = LFd6  - [T,(L) + d,, J = 4.5 - [13 + 21 = 30

SF9,lO  = LF,,lO  - [T,(L) + $,,  J = 57 - [51 + 6] =  0

SF,, 11 = LF,,  11 - [10(L)  + d,, 11]  = 59 - [57  + 21 = 0

SF*.,, = J-F8.u - [T,(L)  + $,jJ = 59 - [58  + l] =  0

SF,,,,,  = LF,,,,* - [T,,(L) + d,,,,J = 63 - [59  + l] =  3

SF,,,,,  = LF,,,,, - [T,,(L) + d,,,,,]  = 64 - 163  + l] =  0

SF 11.13 = LFII,,, - [T,,(L) + d11,13]  = 63 - [59  + 43 =  0

SFn,u  = LFi3,b+ - [T,,(L) + d,,,,,]  = 64 - [63  + 1] = 0

SF,.u,  = LF14.15 - [T,,(L) + d,,,,,]  = 65 - [64 + l] =  0

140
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2

1
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6
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t%rm ionssu

i h.miou

start 1 ail

Q Start

R Start

A Q

B A

C B

D B

E C

F B,R

G B

H F,G

I Ed

J I

K QF,G

L J,K

M L

N J,K

0 LN

P MO

Finish P

ionsiu~

mnn"4

QB
A

F

B

:,D,F,G

E

K

I

H,K

H,K

I

J

J4’

W

MO

P

0

P

Finish
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anqnisd 6X=lldlJ 6Xlll%l

i 6%&p A&p

T,(E) T,(L)

1 0 0

2 10 10

3 12 12

4 1 3 1 3

5 30 44

6 31 45

7 43 43

8 58 58

9 48 51

10 54 57

1 1 59 59

12 60 63

1 3 63 63

14 64 64

1 5 65 65

. .._._ -.. 1--.---..-

6aalaoo~2 mmKla+i-J 6anlaou~~ mm=lou@i

mm &mm IpI3 o"rrrtz  Zirdw

i TF,, FF,, I F , , S F , ,

Q 0 0 0 0

R 14 0 0 14

A 0 0 0 0

B 0 0 0 0

C 3 0 0 3

D 0 0 0 0

E 3 0 0 0

F 14 0 0 0

G 30 1 6 16 30

H 14 1 1 0 0

I 3 0 0 0

J 3 3 0 0

K 0 0 0 0

L 3 0 0 3

M 3 3 0 0

N 0 0 0 0
I

0 0 0 0 0

P 0 0 0 0

OR 414 143



iionr5u

Q 1 2

R 1 5

A 2 3

B 3 4

X 4 5

c 4 I

D 4 8

E 7 9

F 5 6

G 4 6

Y 6 8

H 6 9

I 9 10

J 1 0 1 1

K 8 11

L 11 1 2

M 12 14

Z 12 1 3

N 1 1 1 3

0 1 3 14

P 14 1 5

-

aan-

du

10

30

2

1

0

30

45

5

1

2

0

6

6

2

1

1

1

0

4

1

1-

I~fll~’

6G.6

w,  =

T,(E)

0

0

10

1 2

1 3

13

1 3

43

30

1 3

31

31

48

54

58

59

60

60

59

63

64

EF,,
10
30

1 2

1 3

1 3

43

58

48

31

1 5

31

37

54

56

59

60

61

60

63

64

65

I-%
0

14

10

12

44

1 6

1 3

46

44

43

58

45

51

57

58

62

63

63

59

63

64

ifTli&
LF,, =

T,(L)

-iii

44

1 2

1 3

44

46

58

51

45

45

58

51

57

59

59

63

64

63

63

64

65

bat71

dl5flJ

S!

0

14

0

0

31

3

0

3

14

30

27

14

3

3

0

3

3

3

0

0

0
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ES, = dlfjJ~~  [EF,]

IF, = dlf$q4R

XES dvhqn ES, - filfjJ%i? [LF,  + d,]

z E P,

SF, = LF,  - [filfJ%J?i  LF,  + dJ

z E P,

------ (5.11)

------ (5.12)

------ (5.13)

------ (5.14)

------ (5.15)

------ (5.16)

------ (5.17)

------- (5.18)
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ionssal

i

start

Q
R

A

B

C

D

E

F

G

H

I

J

K

L

M

N

0

P

Finish

iatl1 1

4 6% Es, rfo&.l EF. &.I LsI h+U  LFx

0 0 0 0 0

10 0 10 0 1 0

30 0 30 14 44

2 1 0 12 10 12

1 1 2 13 1 2 1 3

30 13 43 16 46

45 1 3 58 13 58

5 43 48 46 51

1 30 31 44 4s

2 13 1s 43 45

6 31 31 4s 51

6 48 54 51 51

2 54 56 51 59

1 58 59 58 59

1 59 60 62 63

1 60 61 63 64

4 59 63 59 63

1 63 64 63 64

1 64 65 64 65

0 6.5 65 65 65

?iTinqfltn"o  Q-A-B-D-K-N-• -P ~anmfo&uoalmn~7  =65 a'u

TF,
0

0

14

0

0

3

0

3

14

30

14

3

3

0

3

3

0

0

0

0
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ESQ  =  pil$Jqfi  [EF,,,]  =  0

EFa  = Es, + da = 10

n”Qn55ol  R @WlT&%ln~~ol start $%I~!ld  PI  = {start] 6bVlU  i = R 66R: x = start

ES, = dlasq+T [EF,,,]  = 0

EF,  = ES, + d, = 30

TiQn55l.J  A @llUw&%Krm-J  Q HMM  i +%;aa  A 66bl:  PL  = (Q} 66MU  x = Q

E s ,  = diq~k=p[E~~  = l o

ELFA  = ES, + d, = 12

n”WW’u  B 61lSJV4&bn550J’A  66MW  i #XI B 66’0:  P, = [A} 66WU  x = A

ES, =  ~I~s~~I[EF,] =  1 2

EFB  = ES, + 4 = 13

n^QfYi5LJ  C BIlpJW~~~Ofl55aJ  B 66MU  i &XJ  C 660: P>  = {B} 66VlM  x = B

E S ,  =  dlqsqH[EF,]  =  1 3

EF, = ES, + d, = 43

t?onssu  D 9mw&hwm  B 66vIw  i +n;au  D 66n:  Px  = ID] 66nld  x = D

E s ,  = fi~kp=p[E~~]  = 1 3

EF, = ES,, + % = 58

i%n55aJ  E maJwn”Jn”onsru  C 66?lM  i ~~;aer  E 66% P,  = {Cl 66nM  x = C

E S ,  = di~j~fp[EF,i = 43

EFB  = Es,  + 4 =48

t%nsm F 9llxJvi&i%nsTu  B, R 66plu  i &XJ  F 668: PI  = [B,R]  66X%4  x = B, x = R

i

EFFJ

ES, = fi1qsq9 = 30

EFR

EFP  = ES, + dp = 31

n”on5m G vllull&!n”ons5ol  B 66nu i #Xl  G 66% PI  = [B) 66plW  x = B

OR 414 149



E S ,  = dl@q@-~[EF$  = 1 3

EF, = ES, + d, = 15

n”Qn55i.J  H Vllulln’si%n55u F,G  II’WU  i #xJ  H hilt P, = (F,G} WlW x = F,  x = G

EFP

ES, = n’lqSq%Y

I

= 31

EF,

EF, = ES, + % = 37

t%inssaJ  I mlunn’sn”on55u  E 6mz  H mu i b;au  I Lint  PI  = {E,H)

LlpllJ  x = E, x = H

i

EFE

ES, = dli=@qfl =48

EFH

EF,  = ES, + 4 = 54

hnssu  J munkn”on5m I mu i &cau  J bin=  P,  = {I}  mu x = I

Es, = hp=p[~F,] = 54

EF, = ES, + d, = 56

fh55lJ  Ii 9llXlk%Qfl55OJ  D, F AIt?:  G LlYlU  i &XJ  K bbfl: PI  = [D, F,  G)

LLVlU  x = D, x =F  Lli=iZ  x = G

EFD

ES, = dl@qR

!

EF, = 58

EFH

EFK  = ES, + 4( = 59

rh55lJ L 9llXJl&&f-t55iJ J, K 1691U  i ShJ  L ldi=~L  P,  = (J,K] 6lnU x = J, x = K

I
EF,

ES, = n’lqaqm

EFK

EFt  = ES, + 4.

i%n55u M mlam=Xon55oJ L

E S ,  =  f+qfl[EF,]

150
EF,  = ES, + a

= 59

= 60

WlU  i #XJ  M 6m P, = [L) LlnU  x = L

=60

= 61
OR 414



%msu  N mJw&n”onssu  J 66tIz  K mu  i k;7u N 66R:  P, = {J,K)

66nW  x = J, x = K

EC

E S ,  =  filk=j44R = 59

\EF,

EF, =  E S ,  +  G = 63

th75u  0 wlaIw&n”iIn5su  L, N 66plu  i #RJ  0 668: P, = (L,N]  mu x = L, x = N

EFN

EF, =  E S ,  +  d, =64

fhn55aJ  P m.Jn&&lfKiTU  M, 0 66plW  i &;aU  P 668: P, = {M,O} 66plI.6  x = M, x = C

EFM

E S ,  = ?ilg4qR

i

=64

EFo

EF,  =  E S ,  +  dp = 65

i%fXi%J finish 9llIJJHk=%Ofl95%1  P  66’tlU  i  +ZJ  f i n i s h  668: PI =  [P} 66flM x  =  P

ES fi”lOh = dip~p[EF,]  = 6 0

EFfl”,lh  = ES,,,* + %n,dl  = 61

f i l  LF! 668: LS, dlV-dQlQln

LF,  =  dldlqR  [LsJ

XES,

n^onssu P UltiowhmJJ  finish 66nW  i blati  P 66R:  S, = {finish} 66tll.6 x = finish

LF, =  ‘&~a  [LS,,,] =  6 5

L S ,  =  LFp - dp =64

hnm  0 ulfiBUbKisaJ  P 66W i t%u 0 66X S, = [P) 66nW x = P



LF, = dl&=@  [S,] = 63

Ls, = LFo  - d, = 63

&~flXiU  N IJlhlUt%n~5U  0 LlIlW  i &fJ N 66~7:  S, = {O]  66VlU  x = 0

LF, = nkp  [LS,] = 63

Ls, = LF, - a = 59

t%n3XJ  M a.k&hn73u  P 66nw  i &XJ  M 66Df  S,  = {P} 6bWM  x = P

LFM  = dl&p  [LS,] =64

LS, = LFhl  - Q = 63

i%nssu L ultiou~onssu  M, 0 llm  i &xJ  L 66nz  St = {M,O}  66nM  x = M 66%

x=0

LS, = LF,  - 4 = 62

n”TInXTu  K aJlfkIubl7W L, N 66nw  i #XJ  K 66’Rz  S,  = (L,N)  66Tlld  x = L 66x

x=N

i LS,

LS,  = LF, - + = 58

t%mssaJ  J ulfhuhmu  L, N 66plw  i ?hJ J 66az  S,  = {L,N}  66’wu  x = L 66%

x=N

1

J-s,

LF,  = dl@h%m = 59

44

LS, = LF,  -d, = 57

bYa’su  I XJlfiaU!ions5u  J 66plU  i &i?p, I 66tl:  St = {J} 66plU  x = J

LF1  = ‘i%&R  [LS,] = 57

LS, = LF1  - 4 = 51
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t%fl55%l  H WfbU%lfWjU  I 66MW  i hiav H 66WZ  SI = (I) 669196  x = I

LF, = dl&p  [LS,] = 51

Ls,  = LF, - G = 45

n"QflS5XJ G IJlfhU%~fl~~Il  H, K 66plU  i &I  G 66aZ  Si  = {H,K) 6691~~  x = H 66t7:

x=K

LSH
LF, = fil&pl = 45

LSK

LS, = LF,, - d, = 43

t?QfWilJ  F UifIu?kIn5’~u  H, K 66MU  i = F 66tlt  S,  = [H,K) 66pll.1  x = H, x = K

LSH

LFp  = t=ilhCjR

* I

= 45

LSK

LS, = LFp-dp =44

n"Qfl55XJ E IJlfiBUFiQfl~7~  I 1691M  i = E 66At  S,  = {I} 66WM  x = I

LFE  = Pil&?  [LS,] = 51

LS, = LF,-d, = 46

t?Qfl55iJ  D Ul~fJU~QflT7U  K 66PlM  i = D 66X  .S) = {K}  667lU  x = K

LF,,  = dlh~+I [LS,] = 58

LS, = LFD  - h = 13

n”QfKi5U  C lJl~DU~QWT5ll  E 66pll.6  i = C 66tlE SI = (E) 6691U  x = E

LF, = dl&qP~  [LS,] = 46

LS, = LF, - d, = 16

n”Qnnu  B Ultiou~QnTAl C, D, F, G 66Mu  i = B 668: S,  = (C,D,F,G} 66mM  x = C,

x=D,x=F,x=G

, LSC

LSD

LF,  ‘=  ‘h&J@’ = 13

L%

\L%
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ion-m

d
n"on55u~ mll(a"w)

UlfkIW  a m b

2 5 8

A 6 9 12

A 6 7 8

B,C 1 4 7

A 8 8 8

D,E 5 14 17

C I
3 12 21

F,G 3 6 9

H. 5 8 11

wdonaw

iisnssol T-
A 5

B 9

C 7

D 4

E 8

F 13

G 12

H 6

I 8

-
CY
-
1

1

m

1

0

2

3

1

1

-

2
0
-

1

1

l/9

1

0

4

9

1

1

-
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A 5 2

B 3 1

C 2 2

D A 7 1
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158

E A 5 2

F C 5 1

G C 4 1

H B,E,F 4 2

I B,E.F 2 2

J D,H 1 3

d?w?ardl ESu, EF,,,  LF,,,  TF, t%Ci19

hssu

4(1,2)

Wl,4)

C(L3)

DC2,5)

e(2,4)

W3,4)

G(3,6)

H(4S)

f(4,fQ

J(4,5)

3,,  ES!  EF! q LFI
5 0 5 0 5

3 0 3 7 10

2 0 2 3 5

7 5 12 7 14

5 5 10 5 10

5 2 7 5 10

42 6 11 15

4 10 14 10 14

2 10 12 13 15

1 14 15 14 15

-
5
0

7

3

2

0

3

9

0

3

0
-
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ionm  d

A 5

I3 3

c 2

D 7

E 5

F 5

G 4

H 4

I 2

J 1

- - -
3s !F 3
0 5 0

0 3 7

0 2 3

5 1 2 7

5 1 0 5

2 7 5

2 6 1 1

10 1 4 1 0

L O 1 2 1 3

1 4 1 5 1 4-
a4m
an 7 fifj&~  A - E - H - J

~aniPnmm  15 %I

2,  TFt

5 0

10 7

5 3

14 2

10 0

10 3

15 9

14 0

15  0

15 0
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ACT

B(l) . . . . . . . . . . . . . . . . .._...................
C(2). . .

D(l)

Kl) ._...........
G(l) __..........__...._.........................................

LXll
&

1 2 3 4 5 6 7 8 9 10 11 12 13 14 1.5 C%

#?uaunuJlu

7

6

5

4

3

2

1



1 2 3 4 5 6 7 8 9 10 11 12 13 13 15 (auj
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(T,,C,)

Tc T ’ 6ani”

0)
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4 210

8 400

6 500

9 540

4 500

5 150

3 150

7 600

3 280

6 560

4 600

7 600

1 1100

4 240

3 150

6 750

(1321

Cl,41

0,3)

~2~4)LC3,5)

(4,5)
OR 414

4 0 4

8 0 8

6 4 1 0

9 4 1 3

4 10 14

5 10 15

3 14 17

7 15 22

LS,  LF, , dlma

0 4 0

2 10 2

4 1 0 0

6 15 2

1.5 19 5

10 15 0

19 22 5

15 22 0

70

80

50

30

200

90
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ions5u  %l”55&
A

B

C

~

D

E

F

G

H
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A

B

C

D

1 0

a

15

3

a 2 0 0 280

7 100 150

10 3 0 0 4 5 0

2 120 2 0 0 C

E

F

G

H

I

5

1 0

3

1

5

2 0 0

100

5 0

100

5 0

280

’ 170

170

3 0 0

100

AC

C

B

B

E,G
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1

2

1

2

1

ihnssu i%mmdu~fiaw d1uaua”u BlUaunUvlu

A 3 2

B 1 2

C 1 2

D &B 1 2

E &B 3 2

F B 1 2

G B,C 1 2

H D 2 2

I E,F 1 2

J E,F,G 2 2

K W 1 2

L J 3 2
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I I 61Rl

hnssu a

(12)

(1,3)

(194)

(2s)

(3s)

(4,6)

(596)

b

10

7

12

8

9

14

5

%m=m

A

B

c

D

E !

F

G

H

I

J

C

C

BP

BP

J%D

W

A,G

huawh

2

3

1

3

3

5

3

5

4

7

Biuaunuw

1

1

1

1

1

1

2

2

2

2
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(I

I>

E !

F

G

H

I

A

B

DE

B,C

F , G

H

10

7

10

5

9

4

2

B

B

0

D

E,F,G

3

4

6

2

4

3

5

3

3

5

2

3

1

2

3
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